READ TO ALL: For the next few questions (IF PHONE: | would like you to think /IF WEB: please think) about Black or African American people in our

Q33.

country today.

Thinking about the future of Black people in the U.S., do you think the current protest movement and fight for racial equality will lead to

meaningful change that will improve the lives of Black people, or not?

Total

Black Hispanic White
Yes, will lead to meaningful change 45 57 56 40
No, will not 48 38 39 53
Don’t know 6 4 5 7
Refused 1 * 1 *
Web Blank * * - -
n=1,769 n=777 n=201 n=687
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Q38. Here are things that some people say are obstacles to Black people achieving equal outcomes with White people in the U.S. today. For
each, please indicate] if you think it is a major obstacle, a minor obstacle, or not an obstacle. First, (INSERT ITEM), do you think this a
major obstacle, a minor obstacle, or not an obstacle to Black people achieving equal outcomes with White people in the U.S. today? How
about (INSERT NEXT ITEM)? IF NECESSARY: Do you think this a major obstacle, a minor obstacle, or not an obstacle to Black people
achieving equal outcomes with White people in the U.S. today? (scramble a-g)

Obstacle Major Minor Not an Don’t know/
(NET) obstacle obstacle obstacle Refused/ Blank
a. Historic gaps in wealth between Black people
and White people
Total 74 49 25 22 4 n=1,769
Black 89 76 13 10 1 n=777
Hispanic 77 51 27 19 3 n=201
White 72 44 28 24 4 n=687
b. Unconscious bias — that is, White people
discriminating against Black people without
realizing they are doing it
Total 82 52 31 15 2 n=1,769
Black 91 71 20 7 2 n=777
Hispanic 86 63 23 13 1 n=201
White 80 45 35 18 2 n=687
c. Individual acts of racism and discrimination
Total 84 54 30 13 3 n=1,769
Black 94 73 20 5 2 n=777
Hispanic 86 67 19 12 2 n=201
White 82 46 36 15 3 n=687
d. Structural or systemic racism — that is, a
system of established policies and practices that
disadvantage Black people
Total 72 50 22 24 4 n=1,769
Black 90 79 11 8 2 n=777
Hispanic 81 57 24 18 1 n=201
White 68 43 24 28 5 n=687
e. Limited access to quality education
Total 72 47 25 26 3 n=1,769
Black 87 66 21 11 2 n=777
Hispanic 78 51 27 19 3 n=201
White 67 42 26 30 2 n=687
f. Limited opportunities for career advancement
Total 70 43 27 28 2 n=1,769
Black 88 70 18 10 2 n=777
Hispanic 72 49 24 24 3 n=201
White 66 36 30 32 2 n=687
g. Limited access to quality housing
Total 73 46 27 23 3 n=1,769
Black 88 69 20 9 3 n=777
Hispanic 75 48 27 24 2 n=201
White 70 41 30 27 3 n=687
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Q40.

Thinking about your own life, do you feel that each of the following has been anobstacle in your own life[IF IDENT1=1,2:, or not?
First/How about, (INSERT ITEM)?] IF NECESSARY: Has this been an obstacle, in your own life, or not?

Based on total Black adults

Yes, an Not an Don’t
obstacle obstacle know Refused Web Blank

a. Historic gaps in wealth between Black
people and White people

Black 63 35 1 * * n=777
b. Unconscious bias — that is, White people
discriminating against Black people without
realizing they are doing it

Black 71 28 * 1 * n=777
c. Individual acts of racism and discrimination

Black 65 34 * * * n=777
d. Structural or systemic racism — that is, a
system of established policies and practices
that disadvantage Black people

Black 65 34 1 * * n=777
e. Limited access to quality education

Black 41 57 * * 1 n=777
f. Limited opportunities for career
advancement

Black 57 42 * * * n=777
g. Limited access to quality housing

Black 44 56 - * * n=777
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Q43. On average, Black people in the U.S. have worse health outcomes compared to White people. Do you think each of the following is a
major reason, minor reason, or not a reason for this difference? First/Next, (INSERT ITEM)? IF NECESSARY: Is this a major reason, minor
reason, or not a reason why Black people in the U.S. have worse health outcomes on average compared to White people? (scramble a-e)

A
Reason Major Minor Not a Don’t Web
(NET) reason reason reason know Refused Blank

a. Doctors do not provide the same

level of care to Black people as they

do to White people
Total 59 32 27 36 4 1 * n=1,769
Black 83 54 29 16 1 * * n=777
Hispanic 70 42 27 27 3 * 1 n=201
White 53 26 27 42 4 * * n=687

b. Black people are more likely to be

exposed to pollution and

environmental toxins in the places

where they live
Total 74 45 29 22 4 * n=1,769
Black 89 70 19 10 1 * * n=777
Hispanic 71 51 20 23 4 1 * n=201
White 73 40 33 23 3 1 * n=687

c. Black people are less likely to have

access to health care and insurance
Total 74 53 22 23 2 * n=1,769
Black 88 72 16 10 1 * * n=777
Hispanic 83 58 24 15 2 1 - n=201
White 70 49 22 27 1 1 * n=687

d. Black people are less likely to

engage in healthy behaviors like

exercise and healthy eating
Total 60 27 33 36 3 * n=1,769
Black 71 38 33 28 1 * * n=777
Hispanic 64 33 31 34 1 * * n=201
White 58 24 34 38 3 1 * n=687

e. Black people are genetically less

healthy than White people
Total 39 16 23 56 4 1 * n=1,769
Black 50 26 24 47 2 * n=777
Hispanic 45 24 21 51 4 * - n=201
White 37 14 23 59 3 1 * n=687
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Q46. As you may know, people of color in the U.S. are more likely than White people to get sick and die from coronavirus. Do you think the
federal government would be taking stronger action to fight the pandemic if White people were getting sick and dying at higher rates
than people of color, or do you think the federal government’s response would be the same?

Total Black Hispanic White
The federal government would be taking stronger action to
fight the pandemic 34 66 42 25
The federal government’s response would be the same 60 32 47 72
The federal government would be taking less action if White
people were getting sick more than Black people (Vol.) 1 * 1 1
Don’t know 4 2 9 2
Refused 1 * * *
Web Blank * * * -

n=1,769 n=777 n=201 n=687



